FINANCIAL ANALYSIS AND PLANNING

And

PRO FORMA FINANCIAL STATEMENTS

A TEACHING NOTE

I.   Financial Analysis and Planning
 

From the Statement of Cash Flows, or from the analyst’s well-tuned intuition, relevant financial ratios can be identified and calculated.  Remember -- Do not just blindly begin calculating financial ratios – the number of possible financial ratios is almost limitless; life is too short to spend calculating irrelevant ratios!  In short, have a good reason a priori for the financial ratios that you calculate.  If you don’t, you will waste a tremendous amount of time and may wind up with too much information to effectively evaluate.

Financial ratios have two primary uses:

· Financial control (or analysis) and

· Financial planning.

Financial ratios are used to compare actual financial results with various benchmarks of performance, such as

· a firm’s own historical financial ratios to identify improving and deteriorating trends,

· comparable ratios from other firms in the same industry,
 or

· comparison of actual ratios versus a previously developed financial plan.  

We call the activity of comparing ratios to any of these benchmarks financial control.

Financial ratios also are used to project a firm’s future financial position.  We call this activity financial planning.

Financial ratios often are classified into five categories:

· Liquidity ratios, 

· Leverage ratios,

· Activity or turnover ratios,

· Profitability ratios, and

· Market ratios.

See the attached Appendix A, “Financial Ratios,” for more details on the calculation of various financial ratios.  

Consider the use of one of the activity ratios, the Days Sales Outstanding (DSO) ratio.  This ratio can be used to monitor a firm’s credit policy.  DSO is calculated as

Credit Sales / Number of Days = Credit Sales per Day.

DSO = Accounts Receivable / Credit Sales per Day.

Suppose a company had credit sales of $687,500 during the first quarter of 2000, which had 91 days.

Credit Sales per Day = $687,500/91 = $7,555.

On March 31, 2000, the accounts receivable balance was $264,423.  The company’s DSO on March 31, 2000 was

$264,423 / $7,555 = 35 days.

This calculation indicates that customers were, on average, taking 35 days to pay.

Now suppose that during the first quarter of 2001 this company had credit sales of $790,625.  The firm also had accounts receivable of $278,022 at the end of this quarter.  Obviously accounts receivable have increased in magnitude.  Does this increase imply that credit policy is “out of control,” i.e., customers were paying slower?  Not necessarily!

DSO at the end of the first quarter 2001 were

DSO = $278,022 / ($790,625/91) = 32 days.

Actually, customers are paying sooner!  Credit sales have increased faster than Accounts receivable so the DSO has fallen.  We don’t need to worry about this aspect of the business.
We can also use financial ratios to make forecasts.  Suppose we project credit sales for the first quarter of 2002 to be $905,000.  Can we make a prediction of the accounts receivable balance for March 31, 2002?

Absent a change in credit policy, a reasonable approach might be to predict 2002 DSO will be between 35 and 32 days, an average of 33.5 days.

Projected credit sales per day = $905,000 / 91 days = $9,945.

Projected accounts receivable = $9,945 * 33.5 = $333,159.

We could use this amount as our estimate of accounts receivable on a pro forma March 31, 2002 balance sheet, assuming that we anticipate no changes in our credit policy or the payment behavior of our customers.  See the discussion of “percent of sales forecasting” below.
II.   Pro Forma Financial Statements 

Pro forma income statements and balance sheets are the building blocks of a financial plan.  Pro forma statements are projected, or future, financial statements.  These statements show the firm’s projected income and the forecast for assets and financial resources, i.e., total debt plus owners’ equity.

The generic form of the income statement is:

Sales (or Revenue)

less Cost of Goods Sold (CGS)

equals Gross Income (or Gross Profit)

less General Selling and Administrative Expenses

less Depreciation

equals Operating Income (or Operating Profit)

plus Other Income

equals Earnings Before Interest and Taxes (EBIT)

less Interest Expense

equals Income Before-Taxes (or Earnings Before-Taxes (EBT))

less Taxes

equals Income After-Taxes (or Earnings After-Taxes (EAT))

To find the change in retained earnings over the accounting period contained in the income statement, we have

Earnings After-Taxes

less Dividends

equals Change in Retained Earnings.

Note that, depending on a given firm’s circumstances, specific income statements may differ from this generic income statement.  For example, sales might be recorded net of any discounts given or “discounts given” might be a separate (negative) entry under sales.

A generic form of a balance sheet is



ASSETS



LIABILITIES + EQUITY
	Cash 
	$  75
	
	Bank loan
	$ 120

	Accounts receivable
	  200
	
	Accounts payable
	   225

	Inventory
	  300
	
	Wages payable
	    25

	Marketable securities
	    25
	
	Taxes payable
	    50

	
	
	
	Current portion—long-term debt
	    30

	    Total current assets
	$ 600
	
	    Total current liabilities
	$ 450

	
	
	
	
	

	Gross prop. and P & E
	$ 600
	
	Long-term debt
	$ 120

	(Accumulated depreciation)
	 (200)      
	
	Preferred stock
	    40

	Net prop. And P & E
	$ 400
	
	Common stock
	   100

	Land
	     50
	
	Retained earnings
	   340

	    Total assets
	$1050
	
	Total Liabilities + Equity
	$1050


Note that the two sides of the balance sheet must equal.  This equality allows us to use the pro forma balance sheet to determine the amount of additional funds that will be needed to finance the projected assets.

II.A.   The Pro Forma Income Statement

The starting point for the construction of the pro forma income statement is the sales forecast.  The sales forecast typically is in the domain of the marketing department but the heavy dependence on economics suggests that the finance department is also involved.
  The process is then as follows.  The historical relationship between sales and cost of goods sold (CGS) is often used to project future CGS.  For example, suppose that historically the CGS / Sales ratio has averaged a consistent 0.72.  A reasonable projection for the projected cost of goods sold might be (0.72) * (projected sales).

Similarly, historical data might be used to determine operating expenses and other expenses that vary, more or less, with sales, i.e., have a high correlation with sales.  However, some expenses may have both a fixed and a variable component relative to sales and some expenses may be relatively fixed, e.g., depreciation, and have no relationship with changes in sales.  The financial analyst must attempt to come up with a statistical relationship between expenses and sales to come up with a reasonable pro forma income statement.

Once the pro forma income statement has been developed and net income estimated, expected dividends must be deducted to determine the change in retained earnings.  The amount of dividends to be paid is a policy decision made by the board of directors.
  The estimated change in retained earnings is then carried to the pro forma balance sheet and added to prior cumulative retained earnings.

II.B.   The Pro Forma Balance Sheet

The pro forma balance sheet combines projections of individual asset accounts along with individual liability and equity accounts in combination with the estimated retained earnings account to determine the firm’s residual funds need. 

The amount of cash and securities held is usually a policy decision made by management.  Minimum cash needs are often determined using inventory models similar to those studied in production/operations management courses.  Considering cash as an inventory of liquidity, the same general principles apply to a required “safety stock” of cash as to a safety stock of raw materials.

Accounts receivable usually are projected based upon the historical relationship between sales and accounts receivable.  See page 2 of this teaching note for an example of this calculation. 

For inventory, the historical inventory turnover ratio, CGS / Ending or Average Inventory, may be combined with the pro forma income statement CGS figure to estimate the inventory level.  For instance, if historically the CGS / Ending Inventory ratio had averaged 4.5, and CGS was estimated at $750 for the coming year, ending inventory might be estimated at

($750)/(4.5) = $167.

Alternatively, it may be more relevant to use the inventory equation to make this ending inventory estimate:

Beginning Inventory

plus purchases of raw materials

plus addition of labor (if any)

plus addition of factory overhead (if any)

equals Available Inventory

minus CGS

equals Ending Inventory.

Or, as an equation,

Ending Inventory = Beginning Inventory + Raw Material Purchases + Labor Additions + 

        Factory Overhead Additions - CGS

For a retailing firm, a firm that simply buys and resells products, the labor and overhead additions would be zero.

This general relationship can be used to forecast Fixed Assets as well.  Of course, each asset entry can be affected by a change in policy.  For example, management may conclude that credit policy should be tightened (or relaxed).  If so, that change in policy must be taken into account when projecting Accounts Receivable (you should also consider the impact of the change on sales).  Similarly, inventory management policy changes must be taken into account when projecting inventory.

Finally, liabilities can be projected in a fashion similar to assets.  For example, projected Accounts Payable will depend on projected purchases and payment policy.

Suppose purchases are on credit terms that allow a 3% discount if payment is made within 10 days.  If the company’s policy is to take all purchase discounts, accounts payable will be equal to 10 days of purchases, or

Accounts Payable = 10 * credit purchases per day.

Taxes payable will be determined by IRS rules related to the payment of taxes shown on the pro forma income statement.  Wages payable will be determined by the compensation terms of the firm’s employees.  For instance, if you pay employees on the 15th and 30th of every month, then on average, you will have no wages payable outstanding at the end of any given month. 

With the projections of individual asset accounts, accounts payable, taxes payable, wages payable, existing long-term debt, and cumulative retained earnings, we can solve for the amount of funds that must be borrowed and/or the amount of equity that must be sold in order for the balance sheet to balance. See Appendix B, “Residual Financing Needs: The “Plug” Method for Spread Sheet Applications,” for an approach to solving this problem. 

II.C.   Interactions of Pro Forma Income Statements and Balance Sheets

In the typical case, a financial plan is developed for several periods into the future.  The time interval could be monthly, quarterly, or annually.  Because of interest payments on debt, and the impact of this expense on the changes in retained earnings, the income statement and the balance sheet interact.  That is, interest expense is an entry on the income statement, but the amount of interest depends on the level of debt, a balance sheet account, which, in turn, depends on the level of retained earnings.

Three possible approaches exist to adjust for this financial statement interaction.  

· Ignore interest expense on the income statement.  An argument favoring this approach is materiality; interest expense is typically small relative to the other expense accounts.  An argument against this approach is that it is obviously wrong, assuming the firm has any interest-bearing debt.

· Base interest expense on the prior closing balance of interest-bearing debt.  For instance, if you were forecasting January’s financial statements, you would base your interest expense estimate for January on the actual closing loan balances in December.   Using this approach, the January pro forma income statement is developed and the change in retained earnings is calculated.  Then the loan needs for January are “plugged,” and this estimate serves as the basis for February’s interest expense, and so forth.  An argument favoring this approach is that it avoids the “circularity” of the actual problem, i.e., the income statement simultaneously depends on the balance sheet which, in turn, depends on the income statement.  On the other hand, if the average loan balance during the month is substantially different than the beginning loan balance, inaccuracies obviously occur.

· Finally, the most sophisticated approach is to actually solve simultaneously the income statement and the balance sheet “equations” and come up with a much more accurate estimate of the interest expense. 

The income statement equation can be written:

Change in Retained Earnings  = (Revenues – Operating Expenses – Depreciation -

(Interest Bearing Debt) * (Debt rate)) * (1 – Corporate Tax Rate) - Dividends.

Upon inspection, note that this equation is simply Net Income – Dividends = Change in Retained Earnings.  Treat interest bearing debt as the unknown in this equation.

The balance sheet equation can be written
Total Assets = Accounts Payable + Wages Payable + Taxes Payable +

Interest Bearing Debt + Common Stock + 

Beginning Retained Earnings + Change in Retained Earnings.

Interest bearing debt can also be treated as the unknown in this equation.
“Plug” the income statement equation into the balance sheet equation (substitute for “Change in Retained Earnings) and the result is one equation and one unknown.  Then simply solve for the level of interest bearing debt.

The advantage of this simultaneous approach is improved accuracy.  The argument against this approach is that if interest expense is small compared to other expense items, the effort involved may be excessive given the small improvement in the accuracy.

However, these days most spreadsheets will alert you to the circularity problem and simply perform a simultaneous equations solution for estimate interest-bearing debt, sparing you the necessary effort.  Making the improvement in accuracy is essentially costless given current technology.

III.   Sustainable Growth Rate

Companies generally exhibit several phases in their sales growth patterns over their life-cycles.  Start-up firms may begin to see sales growing for a few years at an exponential growth rate.   This phase might be followed by a gradual reduction in growth rate to a level that approaches the growth rate in the economy.  Finally, a firm’s sales may begin to decline due to increased competition or obsolescence of its products.  

During the first phase the firm requires outside financing, often large amounts of external funding, both debt and equity, to sustain its growth.  Internally generated cash flows are insufficient to finance the needed growth in net working capital and fixed assets to meet sales demand.  During the middle phase, the firm’s internally generated cash may be sufficient to satisfy the need for increased assets.  Finally, in the declining growth state, the firm will generate surplus cash from internal operations, allowing the firm to search for new products, acquisitions, or pay increasing dividends.

The concept of a firm’s “sustainable growth rate,” SGR, is important in establishing the “healthy” rate of growth in a firm’s sales without requiring the firm to seek outside equity financing and without causing the firm to assume dangerous amounts of debt.  If the firm’s actual sales growth remains higher than its SGR over several periods, and the firm does not acquire outside equity financing, the firm eventually will become financially “stressed” by relying excessively on external debt financing.  At some point, a firm that utilizes debt sources beyond a “prudent” level is likely to default on its liabilities causing irreparable harm, including the possibility of bankruptcy.

The Sustainable Growth Rate Equation is as follows:

SGR = Margin * Turnover * Leverage * Retention, where

Margin = Net Income/Sales,

Turnover = Sales/Total Assets,

Leverage = Total Assets/Beginning Equity, and

Retention = (1 – Payout Rate), where

Payout Rate = Dividends/Net Income.

Therefore, 

SGR = Net Income/Sales * Sales/Total Assets * Total Assets/Beginning Equity * 

(1 – Dividends/Net Income)

The product of the first two terms of the SGR Equation is the firm’s Return on Assets (Investment), or ROA (ROI), or Net Income/Total Assets.

The product of the first three terms of the SGR Equation is the firm’s Return on Equity, or ROE, or Net Income/Beginning Equity.

If the firm pays no dividends, its retention rate is 1.0, then SGR = ROE.  

Under a policy of zero dividends, the equity accounts will grow at this ROE rate from year-to-year.  This increase in equity will allow for an increase in debt.  For instance, assume that a firm has established a “prudent” Debt/Equity Ratio = 0.50.  Therefore, for every $1 growth in equity (internal equity, i.e., via retained earnings), debt can increase by $0.50.  Therefore, a $1 increase in equity can fund an increase in assets of $1.50 while maintaining the desired Debt/Equity ratio.  

Over time, asset increases are required to generate sales increases.  Hence, a direct link exists between the rate at which equity grows and the rate at which sales can grow.

What if, however, an otherwise identical firm has a payout policy of 50%.  In other words, one-half of Net Income is paid out as dividends.  In this case, $1 of Net Income will only translate to a $0.50 increase in the equity accounts and allow for a $0.25 increase in debt.  Assets can then increase by only $0.75 in this case or half the rate relative to the case of zero payout.  Accordingly, the ability to grow sales, without an infusion of new (external) equity capital, will be substantially reduced.

Let’s say that the ROE of the firm is 15%.  Without dividend payments, the SGR of the firm is also 15%.  However, if the firm pays out half its Net Income as dividends, its SGR is reduced to 7.5%.

What if the firm with a payout rate of 50% tries to grow at the same rate as the firm with a zero payout rate, or 15%, and this firm sells no new equity?  In other words, both firms’ sales grow at 15%.
Perhaps the firm paying dividends can improve its margin and/or turnover to boost its SGR to 15%.  However, absent these improvements and/or new equity sales, a sales growth of 15% with an SGR of 7.5% will result in the firm increasing its Debt/Equity Ratio above its “prudent” level of 0.50.  Departures from the prudent leverage ratio may be acceptable for a while, but eventually creditors are going to become nervous and “call” in loans or curtail credit.  Eventually, the brakes to sales growth will be applied, often with disastrous consequences for the firm.  This is a very important aspect of FAP, while everyone wants to grow fast, knowing what is required to support that growth is the financial manager’s mission.
IV. Conclusions

The financial forecasting process often frustrates students.  The necessity of making assumptions about the future can seem to be little more than making educated guesses.  Since managers do not possess “crystal balls,” forecasting is necessarily fraught with uncertainty. Further, many of the factors that affect actual outcomes relative to the forecast are outside managers’ control, e.g., the future condition of the economy, interest rates, and so on.  The ambiguity of the forecasting process is particularly daunting for those with backgrounds in mathematics, science, or engineering, where precise and reliable calculations are the rule.  If it was easy, everyone would do it.  Decision making under uncertainty is the very essence of business.
However, financial planning provides the financial manager with better estimates of a variety of important consequences of operating and financial strategies.  For instance, a range of future external financing needs may be developed.  Future ratio compliance with covenants contained in loan indentures can be evaluated.  

Single outcome, one case, financial forecasts should be the exception rather than the rule.  Multiple forecasts can be constructed by performing sensitivity testing of key forecasting parameters, e.g., sales levels, or by utilizing scenario analyses, e.g., pessimistic, optimistic, and “best-guess” economic conditions.

While usually we can conclude from comparisons of ex ante (before the fact) financial projections and ex post (after the fact) that forecasts differ from the actual outcome (in other words we can count on being wrong), this observation does not distract from the value of financial planning.  Financial planning forces us to think about the future and evaluate alternative outcomes.  Questions like the following can be addressed.  How low could sales fall and still allow us to meet our obligations?  This thought process associated with financial planning provides valuable insights.

Keep in mind the following sentence when preparing financial forecasts.  

“Planning is the substitution of error for chaos!”

In short, successful financial forecasting is part art and part science.  Experience suggests, however, that financial analysts’ skills improve with experience and practice.  

We hope to provide you with a little of both ingredients in upcoming exercises.  Hang on and do not get discouraged!

APPENDIX A

FINANCIAL RATIOS

1) Liquidity Ratios:
· Current Ratio = Current Assets/Current Liabilities

· Quick Ratio (or Acid Test Ratio) = (Current Assets - Inventory)/Current Liabilities

2) Leverage Ratios:
· Debt Ratio = Total Debt/Total Assets

· Debt-to-Equity Ratio = Total Debt/Total Equity

· Interest Coverage Ratio = Earnings Before Interest and Tax (EBIT)/Interest (I)

· Fixed Charge Coverage Ratio = (Earnings Before Interest & Other Contractual Payments)/(Interest + Deductible Contractual Payments + Principal Payments/(1-tax rate))

· Cash Flow Interest Coverage Ratio = (EBIT + Depreciation)/Interest

3) Activity Ratios:
· Days Sales Outstanding (DSO or Collection Period) = Accounts Receivable/Credit Sales Per Day

· Days Purchases Outstanding (DPO or Payment Period) = Accounts Payable/Credit Purchases Per Day (If purchase data is not available, a proxy for DPO is Accounts Payable/Cost of Goods Sold)

· Inventory Turnover = Cost of Goods Sold/Average Inventory

· Fixed Asset Turnover = Sales/Average Net Fixed Assets

· Total Asset Turnover = Sales/Average Total Assets

4) Profitability Ratios:
· Margin or Return on Sales = Earnings from Continuing Operations After-Tax/Sales

· Return on Investment (or ROI or ROA) = Earnings from Continuing Operations After-Tax/Average Total Assets

· Return on Equity or Return on Net Worth (or ROE) = Earnings from Continuing Operations/Average Total Equity

· ROI = Margin * Turnover = (Earnings from Continuing Operations/Sales) * (Sales/Average Total Assets) 

· ROE = ROI * Leverage Ratio = ROI * (Total Average Assets/Total Average Equity)

5) Sustainable Growth Rate:
· SGR = Margin * Total Asset Turnover * Leverage Ratio * Retention Ratio, 

where Leverage Ratio = Total Assets/Beginning Period Equity and

Retention Ratio = (1 - Dividends/Total Earnings from Continuing Operations)

6) Market Ratios:
· Dividend Yield = Dividends per Share/Market Price per Share

· Market-to-Book Ratio = Market Price per Share/Book Equity per Share

· Price Earnings Ratio = Market Price per Share/Earnings from Continuing Operations per Share.

· Market Return per Period = ((Market Price at End of Period - Market Price at Start of Period) + Dividend Paid During the Period)/(Market Price at Start of Period), or Rt = ((Pt - Pt-1) + Dividendt)/Pt-1, or (Capital Gain + Dividend)/Opening Price

APPENDIX B

RESIDUAL FINANCING NEEDS:

THE "PLUG" METHOD FOR

SPREAD SHEET APPLICATION
Frequently in financial analysis and planning cases we will be estimating the amount of residual financing a firm will need given its strategies and its investment and financing plans.

One method of making this estimate is via the "plug" method.  By this method, we mean we must estimate the pro forma income statement and then determine all of the balance sheet accounts but the "cash balance" account and the "residual source" account, e.g., the required bank loan.

Assume that we have constructed a spread sheet program which provides the firm's income statement under a given scenario and determines the amount that will be transferred to retained earnings for the period.  Also assume that using trends and ratios we have estimated all of the balance sheet accounts except the cash account and the bank loan, here assumed to be the residual financing source.  These two accounts will be the "plug" accounts that we use to make the balance sheet "balance."

For instance, assume our spread sheet looks as follows:

Cell Number


Account

B66


CASH

B67


ACCOUNTS RECEIVABLE

B68


INVENTORY

B69


NET PLANT AND EQUIPMENT

B70


OTHER ASSETS

B71


TOTAL ASSETS

B73


ACCOUNTS PAYABLE

B74


TAX ACCRUALS


B75




BANK LOAN (Assumed the residual source)


 B76




EQUIPMENT LOAN

B77


MISCELLANEOUS ACCRUALS

B78


LONG-TERM DEBT

B79


COMMON STOCK

B80


RETAINED EARNINGS

B81


TOTAL LIABILITIES + EQUITY

Again, assume that we have provided estimates for all of the accounts except cash and bank loan.  Further, assume that $20000 is the minimum cash balance that the firm deems to be appropriate.

Using the IF, SUM, AND >macros in Excel, the following two equations will provide the necessary plug figures:

Cell B66, the cash account--

=IF((20000+SUM(B67:B70))>(B73+B74+SUM(B76:B80)),20000,(B73+B74+

SUM(B76:B80))-(SUM(B67:B70)))

CELL B75, the bank loan account--

=IF((20000+SUM(B67:B70))>(B73+B74+SUM(B76:B80)),(20000+

SUM(B67:B70))-(B73+B74+SUM(B76:B80)),0)

EXCEL SPREAD SHEET EXAMPLE
Assume the following balance sheet where all of the accounts have been estimated except “Cash” and “Bank Loan.”  Assume that the minimum Cash Balance is $20,000 and that the Bank Loan is the “residual” source of financing for the firm.  Accordingly, $20,000 is “plugged” in for cash and zero is “plugged” in for bank loan.

Cell Number
Account
B66
CASH (Plug Minimum)



$ 20,000




B67


ACCOUNTS RECEIVABLE


   65,000



B68
INVENTORY




   82,000

B69
NET PLANT AND EQUIPMENT


 150,000



B70
OTHER ASSETS




   25,000
B71
TOTAL ASSETS




$342,000



B73
ACCOUNTS PAYABLE



$ 18,000  

B74
TAX ACCRUALS



     9,000

B75
BANK LOAN (Plug Zero)


            0

B76
EQUIPMENT LOAN
   23,000  

B77
MISCELLANEOUS ACCRUALS
     5,000



B78
LONG-TERM DEBT



   45,000

B79
COMMON STOCK
   95,000

B80
RETAINED EARNINGS
  125,000
B81
TOTAL LIABILITIES + EQUITY

$320,000

The Assets (Uses of Funds) of $342,000 exceed the Liabilities + Equity (Sources of Funds) of $320,000.  Therefore, the shortfall is $342,000 - $320,000, or $22,000.  

If this shortfall of $22,000 were “Plugged” into the Bank Loan account, the Balance Sheet would balance; both sides would equal $342,000.  

This Bank Loan “Plug” figure is what the Excel equations will calculate if Assets exceed Liabilities + Equity.  

If, however, Liabilities + Equity exceed Assets when the original “ZERO” is inserted for the Bank Loan, the difference will be added to the minimum Cash balance to make the balance sheet balance.  The Bank Loan account will continue to show a zero balance.

� An especially valuable and practical discussion of financial analysis and planning, as well as many other finance topics, is contained in Analysis for Financial Management by R.C. Higgins.  This book is available in paperback and should be in the bookshelf of every financial manager or other managers that interact with financial managers.  Absent student budget constraints, I would always require all business students to purchase and retain this outstanding guide to practical financial management.


� Sources of industry ratios include Dun & Bradstreet, Robert Morris Associates, and Standard and Poor’s.


�  An external (to the firm) analyst often does not know the breakdown of credit versus cash sales; the analyst only knows total revenues.  In this case, total sales are used to perform the calculation.  If the proportion of credit sales to total sales is reasonably constant over time, then changes in the DSO ratio will still be indicative of changes in collection experience however, the analyst must remain aware of this possible deficiency in the analysis.  If the external analyst is in a position to do so, e.g., a commercial loan officer at a bank that is analyzing a loan request by the firm, the analyst can request the breakdown of credit and cash sales.  Of course, an internal analyst will have access to the level of credit sales.


�  This interaction between the finance function and the marketing function is one of many examples of the interactions between functional areas of the firm.  It also illustrates why a broad base of knowledge is important for any business person.  How hard you work developing the sales forecast depends on how important is its use.  The possibilities range from letting sales grow at 10% to a full modeling of the supply and demand functions in your market taking into account changes in the environment such as emerging technologies or a change in your or a competitors pricing policy.


� Once declared, but before actual payment, the dividend declared becomes a liability to the firm.


� In the words of General and President Dwight D. Eisenhower, “It’s not the plans but the planning that matters.”





     � When using comparable ratios make sure that your calculations are consistent with the comparable ratios that you use, e.g., Dun & Bradstreet Key Financial Ratios.  You must compare apples to apples!  The definitions that follow are those commonly used in financial management and may differ from ratios with the same name in the accounting literature. Many analysts use ending values versus average values for total assets, equity, etc.  Again, be careful to make your ratios comparable to the benchmark ratios that you are using.
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